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Quiz #1
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1. (15) Calculate L F(I’)-dl’ for the following data. If | is a force, this
gives the work done in the displacement along C.

— 1 11
F=[coshx,sinhy,e”], C:r=[tt}t] from(0,0,0)to |=.—>=
2 48

—

2. (15) Using Green’s theorem, evaluate L F(I’)-dl’ counterclockwise
around the boundary curve C of the region R.

|f =[-¢’, '], R the triangle with vertices (0, 0), (2, 0), (2, 1)

3. (10) Evaluate the integral ”s (V X F)'ﬁdA directly for the given |E and S.

—

F =1[42, 16x, 0], S:z=y (0<x<1,0<y<I)



